
ĐÁP ÁN BÀI 3 TRANG 147 SÁCH GIÁO KHOA TOÁN 5 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 3: Điền dấu thích hợp : 

1000...997 

53 796...53 800 

6987...10 087 

217 690...217 689 

7500 : 10 ...750 

68 400...684 x 100 

Đáp án 

1000 > 997 

53 796 > 53 800 

6987 < 10 087 

217 690 < 217 689 

7500 : 10 = 750 

68 400 = 684 x 100. 

 

https://doctailieu.com/dap-an-bai-3-trang-147-sgk-toan-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

